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Direction:

Answer the questions based on the information given below.

Eight persons Lalit, Karan, Ravi, Suman, Priyank, Manav, Yash, and Paras are sitting around a square table such that
four of them sit at the corner of the table and four of them sit in the middle of the sides of the table but not
necessarily in the same order. Persons, who sit at the corners of the table face away from the center and others
face towards the center of the table. Suman sits third to the left of Priyank. Ravi sits adjacent to Suman but he does
not sit at any of the corners of the table. Lalit sits third to the right of Ravi but not to the immediate right of

Priyank. Paras sits second to the right of Yash. Manav does not sit adjacent to Lalit.

e Question No.1
Who sits opposite to Suman?
Options:

1. Lalit
2.Yash
3. Manav
4. Paras

5. None of these
Answer : Paras

Direction:

Answer the questions based on the information given below.

Eight persons Lalit, Karan, Ravi, Suman, Priyank, Manav, Yash, and Paras are sitting around a square table such that
four of them sit at the corner of the table and four of them sit in the middle of the sides of the table but not
necessarily in the same order. Persons, who sit at the corners of the table face away from the center and others
face towards the center of the table. Suman sits third to the left of Priyank. Ravi sits adjacent to Suman but he does
not sit at any of the corners of the table. Lalit sits third to the right of Ravi but not to the immediate right of

Priyank. Paras sits second to the right of Yash. Manav does not sit adjacent to Lalit.

e Question No. 2
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What is the position of Lalit with respect to Paras?
Options:

1. Second to the left
2. Second to the right
3. Immediate right

4. Immediate left

5. None of the above
Answer : Second to the right

Direction:

Answer the questions based on the information given below.

Eight persons Lalit, Karan, Ravi, Suman, Priyank, Manav, Yash, and Paras are sitting around a square table such that
four of them sit at the corner of the table and four of them sit in the middle of the sides of the table but not
necessarily in the same order. Persons, who sit at the corners of the table face away from the center and others
face towards the center of the table. Suman sits third to the left of Priyank. Ravi sits adjacent to Suman but he does
not sit at any of the corners of the table. Lalit sits third to the right of Ravi but not to the immediate right of

Priyank. Paras sits second to the right of Yash. Manav does not sit adjacent to Lalit.
Question No. 3
How many persons sit between Manav and Karan when counted from the right of Manav?

Options:

1. One
2. Two
3. Three
4. Four

5. None of the above
Answer : Three

Direction:
Answer the questions based on the information given below.
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Eight persons Lalit, Karan, Ravi, Suman, Priyank, Manav, Yash, and Paras are sitting around a square table such that
four of them sit at the corner of the table and four of them sit in the middle of the sides of the table but not
necessarily in the same order. Persons, who sit at the corners of the table face away from the center and others
face towards the center of the table. Suman sits third to the left of Priyank. Ravi sits adjacent to Suman but he does
not sit at any of the corners of the table. Lalit sits third to the right of Ravi but not to the immediate right of

Priyank. Paras sits second to the right of Yash. Manav does not sit adjacent to Lalit.

Question No. 4
Who sits third to the left of Karan?
Options:

1. Paras
2. Manav
3. Yash
4. Ravi

5. Lalit
Answer : Yash

Direction:

Answer the questions based on the information given below.

Eight persons Lalit, Karan, Ravi, Suman, Priyank, Manav, Yash, and Paras are sitting around a square table such that
four of them sit at the corner of the table and four of them sit in the middle of the sides of the table but not
necessarily in the same order. Persons, who sit at the corners of the table face away from the center and others
face towards the center of the table. Suman sits third to the left of Priyank. Ravi sits adjacent to Suman but he does
not sit at any of the corners of the table. Lalit sits third to the right of Ravi but not to the immediate right of

Priyank. Paras sits second to the right of Yash. Manav does not sit adjacent to Lalit.

Question No. 5

Four of the following five are alike in a certain way based on a group, which among the following does not belong

to that group?
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Options:

1. Lalit
2.Yash
3.Suman
4. Karan

5. Paras
Answer : Karan

Direction:

In each question below isgiven a statement followed by two cour ses of action numbered | and I1. You haveto
assume everything in the statement to be true and on the basis of the information given in the statement, decide

which of the suggested cour ses of action logically follow(s) for pursuing.

Question No. 6

Statement: A dentist of Hospital DBX situated in town X of the population nearly 11ac is giving a test prescription

unnecessarily. This test is also very particular but used for a non-serious disease detection.

Courseof action:

|. The Government should set up a committee and mandate the review of every referral for that test.
Il. Government should impose a cap on the price of that particular test.
Options:

1. Neither 1nor 2
2.0nly 1
3.Both1and 2
4.0nly 2

5. Either1or 2
Answer : Only 1

Direction:

In the question below a statement followed by two cour se of actionsnumbered | and Il has been given. On the basis
of theinformation given, you have to assume everything to betrue and then decide which cour se of action logically
follow(s) for pursuing.
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e Question No.7

Statement: Delhi is suffering from traffic blocks and pollution from vehicle exhaust.

Courseof Action:

I. Should encourage the use of public transport and device a system to reduce the use of private vehicle.
IIl. Should ban usage of private vehicle inside the city.
Options:

1. Only assumption | is implicit

2. Only assumption Il is implicit

3. Either assumption | or Il is implicit

4. Neither assumption | nor Il is implicit

5. Both the assumptions | and Il are implicit.
Answer : Only assumption | is implicit

Direction:

In the question below a statement followed by two cour se of actions numbered | and |l has been given. On the basis
of theinformation given, you have to assume everything to be true and then decide which cour se of action logically
follow(s) for pursuing.

e Question No. 8
Statement:

Renowned businessman Vijay Malaya has absconded to UK fearing arrest in a Money Laundry Case.

Courseof Action:

I. The government should ask the UK administration to put him to trial under UK laws.

IIl. The government should start dialogue with the UK administration to bring Malaya back to put him to trail in India

only.
Options:

1. Only assumption | is implicit
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2. Only assumption Il is implicit
3. Either assumption | or Il is implicit
4. Neither assumption | nor Il is implicit

5. Both the assumptions | and Il are implicit.

Answer : Only assumption Il is implicit

Question No. 9

The positions of the first and the fifth letters of the word DIVIDEND’ are interchanged, similarly, the positions of
the second and sixth letters and third and seventh letters are interchanged and fourth and eighth are interchanged.
In the new arrangement thus formed, how many letters are there between the letter which is third from the right

and the letter which is fourth from the left according in the English alphabetical order?
Options:

1. Three
2.0ne
3. Four
4. Two

5. More than four
Answer : Four

Direction:

In each of the questions below, Statements ar e given followed by two conclusions. You haveto take the given
statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusionslogically follows from the given statements disregarding commonly
known facts.

Question No. 10

Statements:

Some Cricket is Polo.
Only a few Polo is Golf.

All Golf is Football.
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Conclusions:

All Cricket being Golf is possibility.
Some Football is Polo.

Options:

1. If Only Conclusion | follows.

2. If Only Conclusion Il follows.

3. If Either Conclusion | or Il follows.
4. If Both Conclusions | and Il follow.

5. If Neither Conclusion | or Il follows.
Answer : If Both Conclusions | and Il follow.

Direction:

In each of the questions below, Statements ar e given followed by two conclusions. Y ou haveto take the given
statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusionslogically follows from the given statements disr egar ding commonly
known facts.

Question No. 11

Statements:

Only a few A is B.
Only Bis C.

Some A is D.

Conclusions:

No D being Cis a possibility.

All B being A is not a possibility.
Options:

1. If Only Conclusion | follows.

2. If Only Conclusion Il follows.
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3. If Either Conclusion | or Il follows.
4. If Both Conclusions | and Il follow.

5. If Neither Conclusion | or Il follows.
Answer : If Only Conclusion Il follows.

Direction:

In each of the questions below, Statements ar e given followed by two conclusions. You haveto take the given
statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusionslogically follows from the given statements disregarding commonly
known facts.

Question No. 12

Statements:
Only a few H are G.
Some G is not K.

AllLis K.

Conclusions:

Some H can be K.
All'L can never be G.
Options:

1. If Only Conclusion | follows.

2. If Only Conclusion Il follows.

3. If Either Conclusion | or Il follows.
4. If Both Conclusions | and Il follow.

5. If Neither Conclusion | or Il follows.
Answer : If Only Conclusion | follows.

Direction:
Study the following information carefully and answer the questions given below:
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Six students Suresh, Nitin, Lalit, Rohan, Kamal and Vipul are going for a picnic with their families in different months
January, April, July, September, November and December of the same year but not necessarily in the same order.

They are going in different places among Leh, Mussoorie, Rajasthan, Kerala, Sikkim and Rishikesh.

Nitin went three persons before the one who went to Rajasthan. Vipul went three person before the one who went
immediately after Kamal. Lalit did not go to Leh. The one who went to Sikkim is going five months before the one
who went to Kerala. Vipul went in the month which has odd number of days. The one who went to Rajasthan does
not go in the month which has odd number of days. Rohan went two persons before the one who went to

Rishikesh. Suresh went three months before Lalit.

Question No. 13
Who among the following goes to Mussoorie?
Options:

1. Nitin
2. Suresh
3. Kamal
4. Vipul

5. Lalit
Answer : Lalit

Direction:

Study the following information carefully and answer the questions given below:

Six students Suresh, Nitin, Lalit, Rohan, Kamal and Vipul are going for a picnic with their families in different months
January, April, July, September, November and December of the same year but not necessarily in the same order.

They are going in different places among Leh, Mussoorie, Rajasthan, Kerala, Sikkim and Rishikesh.

Nitin went three persons before the one who went to Rajasthan. Vipul went three person before the one who went
immediately after Kamal. Lalit did not go to Leh. The one who went to Sikkim is going five months before the one
who went to Kerala. Vipul went in the month which has odd number of days. The one who went to Rajasthan does
not go in the month which has odd number of days. Rohan went two persons before the one who went to

Rishikesh. Suresh went three months before Lalit.
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e Question No. 14
The one who goes to Sikkim goes on which of the following months?
Options:

1. January

2. September
3. November
4. July

5. April
Answer : April

Direction:

Study thefollowing information carefully and answer the questions given below:

Six students Suresh, Nitin, Lalit, Rohan, Kamal and Vipul are going for a picnic with their families in different months
January, April, July, September, November and December of the same year but not necessarily in the same order.

They are going in different places among Leh, Mussoorie, Rajasthan, Kerala, Sikkim and Rishikesh.

Nitin went three persons before the one who went to Rajasthan. Vipul went three person before the one who went
immediately after Kamal. Lalit did not go to Leh. The one who went to Sikkim is going five months before the one
who went to Kerala. Vipul went in the month which has odd number of days. The one who went to Rajasthan does
not go in the month which has odd number of days. Rohan went two persons before the one who went to

Rishikesh. Suresh went three months before Lalit.
e Question No.15
How many person goes between the one who goes in the month of April and the one who goes to Rajasthan?

Options:

1.0ne
2.Two
3. Three

4. Four
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5. Five
Answer : Two

Direction:

Study the following information carefully and answer the questions given below:

Six students Suresh, Nitin, Lalit, Rohan, Kamal and Vipul are going for a picnic with their families in different months
January, April, July, September, November and December of the same year but not necessarily in the same order.

They are going in different places among Leh, Mussoorie, Rajasthan, Kerala, Sikkim and Rishikesh.

Nitin went three persons before the one who went to Rajasthan. Vipul went three person before the one who went
immediately after Kamal. Lalit did not go to Leh. The one who went to Sikkim is going five months before the one
who went to Kerala. Vipul went in the month which has odd number of days. The one who went to Rajasthan does
not go in the month which has odd number of days. Rohan went two persons before the one who went to

Rishikesh. Suresh went three months before Lalit.

Question No. 16
Equal number of people went before Nitin as after which of the following?
Options:

1. Nitin
2. Lalit
3. Kamal
4. Suresh

5. Vipul
Answer : Kamal

Direction:

Study the following information carefully and answer the questions given below:

Six students Suresh, Nitin, Lalit, Rohan, Kamal and Vipul are going for a picnic with their families in different months
January, April, July, September, November and December of the same year but not necessarily in the same order.

They are going in different places among Leh, Mussoorie, Rajasthan, Kerala, Sikkim and Rishikesh.
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Nitin went three persons before the one who went to Rajasthan. Vipul went three person before the one who went
immediately after Kamal. Lalit did not go to Leh. The one who went to Sikkim is going five months before the one
who went to Kerala. Vipul went in the month which has odd number of days. The one who went to Rajasthan does
not go in the month which has odd number of days. Rohan went two persons before the one who went to

Rishikesh. Suresh went three months before Lalit.

e Question No. 17
Find the odd one out.
Options:

1. Rohan - Nitin
2. Nitin - Suresh
3. Suresh - Kamal
4. Kamal - Lalit

5. Vipul - Suresh
Answer : Nitin — Suresh

Direction:

Answer the questions based on the information given below:

There are seven persons A, B, C, D, E, F and G are sitting in a linear table. Some of them face north and some of
them face south direction. All of them like different sports i.e Cricket, Football, Hockey, Tennis, Volleyball,

Basketball and Badminton but not necessarily in the same order.

F sits immediate right of G who does not sit immediate to B. The one who likes Football and Badminton are
immediate neighbors of E. The one who likes Tennis sits immediate to the left of who likes Hockey. The persons
who sitting at extreme end facing opposite direction to each other. F does not facing south direction. D is an
immediate neighbor of A and likes Cricket. There are more than two persons sit between A and C. C does not like
Volleyball and Badminton. A and B are facing opposite direction to D. E does not face south direction. A sits second
from extreme end and likes basketball. Three persons sit between A and the person who likes Volleyball. B sits

second to the right of C.

e Question No.18
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Who sits immediate left of who likes Badminton?
Options:

1.D
2.G
3.F
4.A

5.E
Answer: E

Direction:

Answer the questions based on the information given below:

There are seven persons A, B, C, D, E, F and G are sitting in a linear table. Some of them face north and some of
them face south direction. All of them like different sports i.e Cricket, Football, Hockey, Tennis, Volleyball,

Basketball and Badminton but not necessarily in the same order.

F sits immediate right of G who does not sit immediate to B. The one who likes Football and Badminton are
immediate neighbors of E. The one who likes Tennis sits immediate to the left of who likes Hockey. The persons
who sitting at extreme end facing opposite direction to each other. F does not facing south direction. D is an
immediate neighbor of A and likes Cricket. There are more than two persons sit between A and C. C does not like
Volleyball and Badminton. A and B are facing opposite direction to D. E does not face south direction. A sits second
from extreme end and likes basketball. Three persons sit between A and the person who likes Volleyball. B sits

second to the right of C.
Question No. 19
Who sits second to the left of F?

Options:

1.E
2.G
3.A

4.C
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5. None of these
Answer: A

Direction:

Answer the questions based on the information given below:

There are seven persons A, B, C, D, E, F and G are sitting in a linear table. Some of them face north and some of
them face south direction. All of them like different sports i.e Cricket, Football, Hockey, Tennis, Volleyball,

Basketball and Badminton but not necessarily in the same order.

F sits immediate right of G who does not sit immediate to B. The one who likes Football and Badminton are
immediate neighbors of E. The one who likes Tennis sits immediate to the left of who likes Hockey. The persons
who sitting at extreme end facing opposite direction to each other. F does not facing south direction. D is an
immediate neighbor of A and likes Cricket. There are more than two persons sit between A and C. C does not like
Volleyball and Badminton. A and B are facing opposite direction to D. E does not face south direction. A sits second
from extreme end and likes basketball. Three persons sit between A and the person who likes Volleyball. B sits

second to the right of C.

Question No. 20
Who is sitting third to the left of the one, who likes Volleyball?
Options:

1.G
2.C
3.B
4.D

5. None of these
Answer: G

Direction:
Answer the questions based on the information given below:

There are seven persons A, B, C, D, E, F and G are sitting in a linear table. Some of them face north and some of

them face south direction. All of them like different sports i.e Cricket, Football, Hockey, Tennis, Volleyball,
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Basketball and Badminton but not necessarily in the same order.

F sits immediate right of G who does not sit immediate to B. The one who likes Football and Badminton are
immediate neighbors of E. The one who likes Tennis sits immediate to the left of who likes Hockey. The persons
who sitting at extreme end facing opposite direction to each other. F does not facing south direction. D is an
immediate neighbor of A and likes Cricket. There are more than two persons sit between A and C. C does not like
Volleyball and Badminton. A and B are facing opposite direction to D. E does not face south direction. A sits second
from extreme end and likes basketball. Three persons sit between A and the person who likes Volleyball. B sits

second to the right of C.

Question No. 21
Who is sitting second to the right of C?
Options:

1A
2.D
3.B
4.G

5. None of these
Answer: B

Direction:

Answer the questions based on the information given below:

There are seven persons A, B, C, D, E, F and G are sitting in a linear table. Some of them face north and some of
them face south direction. All of them like different sports i.e Cricket, Football, Hockey, Tennis, Volleyball,

Basketball and Badminton but not necessarily in the same order.

F sits immediate right of G who does not sit immediate to B. The one who likes Football and Badminton are
immediate neighbors of E. The one who likes Tennis sits immediate to the left of who likes Hockey. The persons
who sitting at extreme end facing opposite direction to each other. F does not facing south direction. D is an
immediate neighbor of A and likes Cricket. There are more than two persons sit between A and C. C does not like
Volleyball and Badminton. A and B are facing opposite direction to D. E does not face south direction. A sits second

from extreme end and likes basketball. Three persons sit between A and the person who likes Volleyball. B sits
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second to the right of C.

e Question No. 22
Who sits fifth to left of one who likes Volleyball?
Options:

1.G
2.D
3.A
4.C

5. None of these

Answer: D

e Question No. 23

A question isgiven, followed by two statementsnumbered (1) and (I1). You have to decide whether the data

provided in the statementsis sufficient to answer the question. Read both the statements and select the appropriate
answer.

Five persons G, H, |, J and E sit in a linear row and face towards the north direction but not necessarily in the same

order. Who sits second to the right of J?

Statement I: G sits second from one of the extreme ends. E sits immediate left of G. | sits second to the right of E.
Statement Il: J sits immediate left of H. E sits second to the left of I. G sits to the right of H.
Options:

1. Data in statement | alone is sufficient to answer the question.

2. Data in either statement | alone or statement Il alone is sufficient to answer the question.
3. Data in statements | and Il together is sufficient to answer the question.

4. Data in statement Il alone is sufficient to answer the question.

5.

Answer : Data in statement Il alone is sufficient to answer the question.
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e Question No. 24

The question given below consists of two statementsnumbered | and 11 given below it. Y ou have to decide whether
the data provided in the statements ar e sufficient to answer the question. Read all the statement and answer the
question.

Seven persons F, G, H, |, J, K, and L live in a 7-storey building but not necessarily in the same order. The bottommost

floor is numbered as 1 and the topmost shelf is numbered as 7. Who lives just above H?

Statement |: Three persons live between L and K. G lives just below I. | lives just below K. H lives above J, who lives

just above F. J doesn't live on the even-numbered floor.

Statement I1: H lives two floors above F. F lives at one of the perfect square numbered floors. Two persons live

between J and I. G lives two floors below K.
Options:

1. If the data given in statement | alone is sufficient to answer the question.

2.If the data given in statement Il alone is sufficient to answer the question.

3.If the data given in either statement | or statement Il alone is sufficient to answer the question.

4. If the data given in both the statement | and statement Il together are sufficient to answer the question.
5. If the data given in both the statement | and statement Il together are not sufficient to answer the

question.

Answer : If the data given in statement | alone is sufficient to answer the question.

e Question No. 25
The question given below consists of two statementsnumbered | and |1 given below it. Y ou have to decide whether

the data provided in the statements ar e sufficient to answer the question. Read all the statement and answer the
question.

Six persons T, U, V, W, X and Y has seminar on two different days i.e., 14th and 17th of three different months i.e.,

May, June and July of the same year, but not necessarily in the same order. Who has the seminar on 17th June?

Statement |: U has seminar on 17th of the month which has odd number of days. Two persons has seminar between

U and Y. No one has seminar before W. One person has seminar between T and X.
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Statement I1: T has seminar on 17th. T has seminar just before Y. As many persons has seminar before V as after T. V

has seminar after T.
Options:

1. If the data given in statement | alone is sufficient to answer the question.

2. If the data given in statement Il alone is sufficient to answer the question.

3. If the data given in either statement | or statement Il alone is sufficient to answer the question.

4. If the data given in both the statement | and statement Il together are sufficient to answer the question.
5. If the data given in both the statement | and statement Il together are not sufficient to answer the

question.

Answer : If the data given in both the statement | and statement Il together are sufficient to answer the question.

e Question No. 26

According to recent RBI census data for FY 2023, which country emerged as the largest source of foreign direct

investment (FDI) in India?
Options:

1. China

2. Japan

3. United States

4. United Kingdom

5. Singapore

Answer : United States

e Question No. 27

What does NFRA stand for in the context of its role as an independent regulator overseeing the auditing profession

and Indian Accounting Standards under the Companies Act 2013?
Options:

1. National Financial Regulatory Authority
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2. National Financial Reporting Agency
3. National Financial Reporting Authority
4. National Financial Review Association

5. National Fiscal Reporting Agency

Answer : National Financial Reporting Authority

e Question No. 28
Which of the following organizations is not a regulatory body?
Options:

1. 1BBI

2. SEBI

3. PFRDA
4. IRDAI

5. NABARD

Answer : NABARD

e Question No. 29

The Insurance Amendment Bill 2021 proposes an increase in the foreign direct investment (FDI) limit in the

insurance sector. What is the proposed increased FDI limit?
Options:

1. 51%

2.64%
3.74%
4.79%

5.89%

Answer : 74%

0(6
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e Question No. 30

In the Global Biofuel alliance India, the US and Brazil account for a total of 85 percent of the global ethanol

production, what are the individual shares held by India and Brazil, respectively?
Options:

1. India: 3%, Brazil: 27%
2. India: 27%, Brazil: 3%
3. India: 30%, Brazil: 25%
4. India: 55%, Brazil: 27%

5. India: 27%, Brazil: 55%

Answer : India: 3%, Brazil: 27%

e Question No. 31

The India-Middle East-Europe Economic Corridor (IMEC) aims to bolster economic development by fostering

connectivity and economic integration between Asia, the Persian Gulf and Europe. Which country is not included in

the project?
Options:

1. Jordan

2. Algeria

3. Saudi Arabia
4. UAE

5. Greece

Answer : Algeria

e Question No. 32

Government and LIC have shares of 94.72% in which of the following banks with LIC holding, 49.24 %?

Options:
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1. State Bank of India (SBI)

2. HDFC Bank

3. IDBI Bank

4. Punjab National Bank (PNB)

5. Axis Bank

Answer : IDBI Bank

e Question No. 33

On which date do the global community and India celebrate 'World EV Day' to promote sustainable transportation

and a cleaner future, free of carbon emissions?
Options:

1. August 15
2. September 9
3. October 2
4. November 1

5. December 25

Answer : September 9

e Question No. 34

Real Estate Investment Trusts Real estate investment trusts (REITs) is an innovative vehicles that allows developers

to monetise revenue-generating real estate and infrastructure assets, and is regulated by the

Options:

1. RBI

2. IBBI
3.IRDAI
4. SEBI

5. None of these

Answer : SEBI
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e Question No. 35
Which of the following entities is to perform the functions of the Central KYC Records Registry (CKYCR)?
Options:

1. CERDAI
2. GESAI
3. CERSA
4. URSAI

5. CERSAI

Answer : CERSAI

e Question No. 36
The Financial Inclusion report is published by which of the following organizations?
Options:

1. RBI

2. Department of Economics
3. NITI Aayog

4. FICCI

5. Department of Commerce

Answer : RBI

e Question No. 37

The World Bank Group is an extended family of five international organizations, which of the following

organizations is not a part of the Group?
Options:

1. International Development Association (IDA)

2. International Finance Corporation (IFC)
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3. New Development Bank (NDB)
4. International Centre for Settlement of Investment Disputes (ICSID)

5. Multilateral Investment Guarantee Agency (MIGA)

Answer : New Development Bank (NDB)

Question No. 38

What type of cyberattack involves stealing personal information by connecting a malicious USB device into your

phone or laptop while charging?
Options:

1. Phishing

2. Ransomware

3. Man-in-the-Middle
4. Denial-of-Service

5. Juice jacking

Answer : Juice jacking

Question No. 39

hich company introduced the mobile app Shopsy in July 2021, enabling people in India to start their own online

reseller business?
Options:

1. Amazon
2. Snapdeal
3. Myntra
4. Flipkart

5. Paytm

Answer : Flipkart
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e Question No. 40

Which railway station was awarded the 'Green Railway Station' certification with the highest rating of Platinum by

the Indian Green Building Council (IGBC) for its environmental efforts and eco-friendly services to passengers?
Options:

1. Chennai Central Railway Station

2. Vijayawada Railway Station

3. Howrah Junction Railway Station

4. Chhatrapati Shivaji Terminus Railway Station

5. New Delhi Railway Station

Answer : Vijayawada Railway Station

e Question No. 41
What is the Asian record of 4*400 meter men relay team at World Athletics Championships?
Options:

1. 03:01:51 mins

2.02:57:20 mins
3. 02:59:05 mins
4. 03:05:12 mins

5. 03:09:01 mins

Answer : 02:59:05 mins

e Question No. 42

How many digits are there in the HSN (Harmonized System of Nomenclature) code, which is a uniform code used

for the systematic classification of goods worldwide?
Options:

1. 3 digits
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2. 4 digits
3.5 digits
4. 6 digits

5.7 digits

Answer : 6 digits

e Question No. 43

Until October 2023, what is the highest exchange value of Pound Sterling in terms of INR, setting a record high

since 19477
Options:

1.100.53 INR
2.104.05 INR
3.105.94 INR
4.106.05 INR

5.107.72 INR

Answer :107.72 INR

e Question No. 44
India hosted the G 20 and is currently part of the G20 Troika comprising which two other countries?
Options:

1. Indonesia and Brazil
2. Italy and Indonesia
3. Italy and Brazil

4. Brazil and Mexico

5. Mexico and Indonesia

Answer : Indonesia and Brazil
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e Question No. 45

The RIDF (Rural Infrastructure Development Fund) was set up by the Government in 1995-96 for financing ongoing

rural infrastructure projects and is managed by:
Options:

1. Reserve Bank of India (RBI)

2. National Bank for Agriculture and Rural Development (NABARD)
3. Ministry of Rural Development

4. NITl Aayog

5. Ministry of Finance

Answer : National Bank for Agriculture and Rural Development (NABARD)

e Question No. 46

The recent amendment in the Prevention of Money-Laundering Act, 2002, by the Ministry of Finance aims to

expand the scope of the Act to include a broad spectrum of transactions related to:
Options:

1. Real Estate

2. Precious Metals

3. Virtual Digital Assets
4. Foreign Exchange

5. Agricultural Commodities

Answer : Virtual Digital Assets

e Question No. 47

The committee set up by the Government to review the pension scheme for government employees and suggest

changes in the National Pension System (NPS), was headed by:

Options:
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1. TV Somanathan
2. Nirmala Sitharaman
3. Shaktikanta Das
4. Arvind Subramanian

5. Raghuram Rajan

Answer : TV Somanathan

e Question No. 48

The BSE (Bombay Stock Exchange) is designed to reflect the growth and performance of the top listed companies.

How many companies are included in the BSE index?
Options:

1.20
2.30
3.40
4.50

5.60

Answer : 30

e Question No. 49

With effect from February 4, 2020, the Deposit Insurance and Credit Guarantee Corporation (DICGC) increased the

insurance cover for depositors in insured banks from 21 lakh to:
Options:

1. %2 lakh
2.33 lakh
3.4 lakh
4.35 lakh

5.%6 lakh

Answer : 5 lakh
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e Question No. 50

Ajit Ninan recently died due to cardiac arrest, best known for the 'Centrestage’ series, contributed to which

magazine where he gained recognition for his work?
Options:

1. The Week

2. Frontline

3. India Today
4. The Caravan

5. Outlook

Answer : India Today

e Question No. 51

Syears ago, the ages of 'Arunita’ and 'Bhasker' were in the ratio 2:3. S5years from now, the age of 'Arunita' will be 25%

less than that of 'Bhasker'. Determine the sum of their current ages.
Options:

1.25yrs
2.55yrs
3.65yrs
4.60 yrs

5. none of these

Answer : 60 yrs

e Question No. 52

Anoop invested a sum at a simple interest rate of 8% per annum, and it grew to Rs.1,850 in 6 years. If the same sum
is invested at a compound interest rate of 20% per annum for 2 years, what would be the amount received after 2

years?
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Options:

1. Rs.1,800
2.Rs.1,900
3.Rs.1,850
4.Rs.1,500

5. none of these

Answer : Rs.1,800

e Question No. 53

The ratio of juice to soda in an 84-liter mixture (juice + soda) is 9:5. A certain quantity of this mixture is taken out
and replaced with the same quantity of soda. If the final mixture has a ratio of 3:4 for juice and soda, respectively,

determine the quantity of the mixture that has been taken out.
Options:

1.15 liters
2.25 liters
3.45 liters
4. 28 liters

5. none of these

Answer : 28 liters

e Question No. 54

The ratio of the cost prices of Leather Shoes to Sports Shoes is 6:5. Both types of shoes are sold after a single
discount of 20% for Leather Shoes and 25% for Sports Shoes. If the selling price is the same for both shoes, and the
difference between their marked prices is Rs. 125, find the cost price of Leather Shoes, considering that Leather

Shoes were sold at a profit of Rs. 300.
Options:

1. Rs.1265
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2.Rs.1200
3.Rs.2200
4. Rs.100

5. none of these

Answer : Rs.1200

Question No. 55

A and S commenced a business with capitals of Rs. 15,000 and Rs. 13,500, respectively. After 9 months, they
withdrew one third of their capital. Determine A's share of the profit out of the total profit of Rs. 22,800 at the end

of the year.
Options:

1. Rs.32000
2. Rs.22000
3. Rs.12650
4. Rs.12000

5. none of these

Answer : Rs.12000

Question No. 56

The speed of a Vande Bharat train is 72 km/h, and it takes 16 seconds to cross a tree. Determine the time taken by

the train to cross a platform when the ratio of the length of the platform to the length of the train is 11:8.
Options:

1.32 sec
2.28 sec
3.38 sec
4. 25 sec

5. none of these

Answer : 38 sec
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e Question No. 57

Twenty laborers can complete a piece of work in 12 days. If 20 laborers started working and after 3 more days,

additional laborers joined to complete the remaining work in 6 days, determine the number of laborers who joined

after 3 days of the work started.
Options:

1.15

2.12
3.25
4.10

5. none of these

Answer : 10

e Question No. 58

The monthly income of Anamika and Vimla is in the ratio 4:3. Anamika's monthly savings are 25% more than Vimla's.
Vimla's monthly expenditure is Rs. 6,000 more than Anamika's monthly savings. If Vimla spends Rs. 22,000 in a

month, determine Anamika's monthly income.
Options:

1. Rs.35,000
2.Rs.52,000
3.Rs.12,000
4.Rs.32,000

5. none of these

Answer : Rs.32,000

e Question No. 59

'H' sells an article at a 20% profit. If he had bought it at 20% less and sold it for Rs. 40 more, he would have gained

75%. Determine the cost price of the article.
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Options:

1.100
2.200
3.150
4.165

5. none of these

Answer : 200

Question No. 60

Anuj covered a distance of 188 km in 8 hours. He traveled part of the distance on a cycle at a speed of 15 km/hr and

the remaining distance by walking at a speed of 32 km/hr. Determine the distance he covered by walking.
Options:

1.120 km
2.100 km
3.128 km
4.150 km

5. none of these
Answer : 128 km

Direction:

What approximate value will comein place of the question mark (?) in the following question? (Note: You are not
expected to calculate the exact value.)

Question No. 61
(1488.06 x 4.99) - 5677.95 + 1038.06 - 658.97 + (272.95 x 3.05) = ? x (36.95 x 4.02)
Options:

1.5
2.20

3.55
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4.45

5. none of these
Answer : 20

Direction:

What approximate value will comein place of the question mark (?) in the following question? (Note: You are not
expected to calculate the exact value.)

Question No. 62
? % of [(12.96 x 40.05) + 25.08 x 18.96] = 17.96 x 22.05 + 3.05 x 66.96
Options:

1.25
2.60
3.85
4.10

5. none of these
Answer : 60

Direction:

What approximate value will comein place of the question mark (?) in the following question? (Note: You are not
expected to calculate the exact value.)

Question No. 63
1488.96 + 2035.08 - 1533.96 + 680.07 = ? % of (178.02 x 99.96)
Options:

1.15

2.35
3.65
4.95

5. none of these

Answer : 15
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Direction:

What approximate value will comein place of the question mark (?) in the following question? (Note: You are not
expected to calculate the exact value.)

e Question No. 64
[(120.96 x 12.09) + ?] + 6 =19.96% of 55.07
Options:

1. 42
2.22
3.65
4.12

5. none of these
Answer : 22

Direction:
What will come in place of the question mark (?) in the following series?

e Question No. 65
168, 178, ?, 273, 400, 618, 963
Options:

1. 201
2.165
3.207
4.196

5. none of these
Answer : 207

Direction:
What will comein place of the question mark (?) in the following series?



e Question No. 66

12, 27, ?, 113,141, 285, 313

Options:

1.45
2.65
3.55
4.75

5. none of these

Answer : 55

Direction:
What will come in place of the question mark (?) in the following series?

e Question No. 67

257, 399, 566, ?, 983, 1237

Options:

1.540
2.695
3.760
4.725

5. none of these

Answer : 760

Direction:
What will come in place of the question mark (?) in the following series?

e Question No. 68

48,245, ?,39.75, 815, 206.25, 621.75

ixam
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Options:

1.255
2.45.25
3.15.6
4.22.8

5. none of these

Answer : 255

e Question No. 69

ixam

Which computer part is responsible for storing data permanently, even when the power is turned off?

Options:

1. RAM

2.CPU

3. Hard Drive

4. Motherboard

5. none of these

Answer : Hard Drive

e Question No. 70

0(6

Which component of a computer is responsible for managing and coordinating various hardware components?

Options:

1. CPU

2.GPU

3. Motherboard
4. Hard Drive

5. none of these

Answer : Motherboard
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e Question No. 71
Which technology is used in SSDs for storing data?
Options:

1. Magnetic disks
2. Flash memory
3. Optical media
4. Magnetic tape

5. none of these

Answer : Flash memory

e Question No. 72
How does an SSD contribute to faster boot times and application loading in a computer system?
Options:

1. By providing larger storage capacity
2. By utilizing volatile memory

3. By eliminating mechanical latency
4. By decreasing processor speed

5. none of these

Answer : By eliminating mechanical latency

e Question No. 73
What is the function of the "SUM" function in Microsoft Excel?
Options:

1. Counts the number of cells in a range
2. Adds up the values in a range of cells

3. Finds the average of values in a range

0(6
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4. Multiplies values in a range

5. none of these

Answer : Adds up the values in a range of cells

e Question No. 74
In Excel, what does the formula "=A1+B1" represent?
Options:

1. Division of cells A1and B1

2. Concatenation of cells ATand B1
3. Addition of cells A1and B1

4. Subtraction of cells A1 from B1

5. none of these

Answer : Addition of cells A1and B1

e Question No. 75
What is the function of the "IF" function in Excel?
Options:

1. Text formatting

2. Logical testing and conditional calculations
3. Sorting data

4. Inserting images

5. none of these
Answer : Logical testing and conditional calculations

Direction:

Read the given passage and answer the following questions accordingly.

The rapid advancements in technology have revolutionized the way we live and work. From smartphones to

artificial intelligence, these innovations have transformed various aspects of our lives. One area greatly impacted by
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technology is the workplace. Automation and robotics have emerged as significant disruptors in the labor market.
Many routine and repetitive tasks previously performed by humans are now being automated, leading to concerns
about job security and unemployment. While automation may lead to job displacement in certain sectors, it also
creates new opportunities for workers in emerging fields. The rise of remote work is another major trend influenced
by technology. With the development of high-speed internet and collaboration tools, employees can now work
from anywhere in the world. This flexibility offers benefits such as improved work-life balance and reduced
commuting time. However, it also presents challenges in terms of managing remote teams and maintaining
effective communication. Data analytics and machine learning have become essential tools in decision-making and
business operations. Companies now have access to vast amounts of data, allowing them to gain insights into

customer behavior, optimize processes, and drive innovation.

However, this reliance on data also raises concerns about privacy and data security. Technology has also
transformed the way we learn and acquire knowledge. Online education platforms and e-learning tools have made
education accessible to a wider audience. Students can now access course materials, participate in virtual
classrooms, and engage with instructors from around the world. However, the digital divide still exists, with many
individuals lacking access to reliable internet connections and technology devices. The integration of technology
into the workplace has brought both benefits and challenges. While automation and remote work offer increased
efficiency and flexibility, they also require individuals and organizations to adapt and upskill. Continuous learning
and staying abreast of technological advancements have become essential for career growth and competitiveness

in the job market.
Question No. 76
What is a primary apprehension linked to automation in the workplace?

Options:

1. it entails an increase in job opportunities in emerging fields.

2. it is associated with an improvement in work-life balance for employees.
3. revolves around potential job displacement and unemployment.

4. it is related to enhanced decision-making and business operations.

5. concerns the altered flexibility in company work arrangements.
Answer : revolves around potential job displacement and unemployment.

Direction:
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Read the given passage and answer the following questions accor dingly.

The rapid advancements in technology have revolutionized the way we live and work. From smartphones to
artificial intelligence, these innovations have transformed various aspects of our lives. One area greatly impacted by
technology is the workplace. Automation and robotics have emerged as significant disruptors in the labor market.
Many routine and repetitive tasks previously performed by humans are now being automated, leading to concerns
about job security and unemployment. While automation may lead to job displacement in certain sectors, it also
creates new opportunities for workers in emerging fields. The rise of remote work is another major trend influenced
by technology. With the development of high-speed internet and collaboration tools, employees can now work
from anywhere in the world. This flexibility offers benefits such as improved work-life balance and reduced
commuting time. However, it also presents challenges in terms of managing remote teams and maintaining
effective communication. Data analytics and machine learning have become essential tools in decision-making and
business operations. Companies now have access to vast amounts of data, allowing them to gain insights into

customer behavior, optimize processes, and drive innovation.

However, this reliance on data also raises concerns about privacy and data security. Technology has also
transformed the way we learn and acquire knowledge. Online education platforms and e-learning tools have made
education accessible to a wider audience. Students can now access course materials, participate in virtual
classrooms, and engage with instructors from around the world. However, the digital divide still exists, with many
individuals lacking access to reliable internet connections and technology devices. The integration of technology
into the workplace has brought both benefits and challenges. While automation and remote work offer increased
efficiency and flexibility, they also require individuals and organizations to adapt and upskill. Continuous learning
and staying abreast of technological advancements have become essential for career growth and competitiveness

in the job market.
Question No. 77
What benefits does data analytics bring to businesses?

Options:

1. heightens concerns about privacy and data security.
2. it involves gaining access to extensive data for decision-making processes.

3. it entails a reduction in insights into customer behavior.
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4. constraints in optimizing business processes limit it.

5. it involves providing faster technologies.
Answer : it involves gaining access to extensive data for decision-making processes.

Direction:

Read the given passage and answer the following questions accordingly.

The rapid advancements in technology have revolutionized the way we live and work. From smartphones to
artificial intelligence, these innovations have transformed various aspects of our lives. One area greatly impacted by
technology is the workplace. Automation and robotics have emerged as significant disruptors in the labor market.
Many routine and repetitive tasks previously performed by humans are now being automated, leading to concerns
about job security and unemployment. While automation may lead to job displacement in certain sectors, it also
creates new opportunities for workers in emerging fields. The rise of remote work is another major trend influenced
by technology. With the development of high-speed internet and collaboration tools, employees can now work
from anywhere in the world. This flexibility offers benefits such as improved work-life balance and reduced
commuting time. However, it also presents challenges in terms of managing remote teams and maintaining
effective communication. Data analytics and machine learning have become essential tools in decision-making and
business operations. Companies now have access to vast amounts of data, allowing them to gain insights into

customer behavior, optimize processes, and drive innovation.

However, this reliance on data also raises concerns about privacy and data security. Technology has also
transformed the way we learn and acquire knowledge. Online education platforms and e-learning tools have made
education accessible to a wider audience. Students can now access course materials, participate in virtual
classrooms, and engage with instructors from around the world. However, the digital divide still exists, with many
individuals lacking access to reliable internet connections and technology devices. The integration of technology
into the workplace has brought both benefits and challenges. While automation and remote work offer increased
efficiency and flexibility, they also require individuals and organizations to adapt and upskill. Continuous learning
and staying abreast of technological advancements have become essential for career growth and competitiveness

in the job market.

Question No. 78

What is a key challenge tied to the incorporation of technology into the workplace?
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Options:

1. it results in reduced efficiency and productivity in operations.

2. there is not a decreased need for continuous learning and upskilling.
3. it limits opportunities for career growth.

4. it is about navigating challenges and embracing lifelong learning.

5. leads to a decrease in the number of employees physically present in the office.
Answer : it is about navigating challenges and embracing lifelong learning.

Direction:

Read the given passage and answer the following questions accordingly.

The rapid advancements in technology have revolutionized the way we live and work. From smartphones to
artificial intelligence, these innovations have transformed various aspects of our lives. One area greatly impacted by
technology is the workplace. Automation and robotics have emerged as significant disruptors in the labor market.
Many routine and repetitive tasks previously performed by humans are now being automated, leading to concerns
about job security and unemployment. While automation may lead to job displacement in certain sectors, it also
creates new opportunities for workers in emerging fields. The rise of remote work is another major trend influenced
by technology. With the development of high-speed internet and collaboration tools, employees can now work
from anywhere in the world. This flexibility offers benefits such as improved work-life balance and reduced
commuting time. However, it also presents challenges in terms of managing remote teams and maintaining
effective communication. Data analytics and machine learning have become essential tools in decision-making and
business operations. Companies now have access to vast amounts of data, allowing them to gain insights into

customer behavior, optimize processes, and drive innovation.

However, this reliance on data also raises concerns about privacy and data security. Technology has also
transformed the way we learn and acquire knowledge. Online education platforms and e-learning tools have made
education accessible to a wider audience. Students can now access course materials, participate in virtual
classrooms, and engage with instructors from around the world. However, the digital divide still exists, with many
individuals lacking access to reliable internet connections and technology devices. The integration of technology
into the workplace has brought both benefits and challenges. While automation and remote work offer increased
efficiency and flexibility, they also require individuals and organizations to adapt and upskill. Continuous learning
and staying abreast of technological advancements have become essential for career growth and competitiveness

in the job market.
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e Question No. 79
Choose the option that is close in meaning to the word “integration” as mentioned in the passage.
Options:

1. assimilation
2. fragmentation
3. distribution
4. systematic

5. documentation
Answer : assimilation

Direction:

Read the given passage and answer the following questions accor dingly.

The rapid advancements in technology have revolutionized the way we live and work. From smartphones to
artificial intelligence, these innovations have transformed various aspects of our lives. One area greatly impacted by
technology is the workplace. Automation and robotics have emerged as significant disruptors in the labor market.
Many routine and repetitive tasks previously performed by humans are now being automated, leading to concerns
about job security and unemployment. While automation may lead to job displacement in certain sectors, it also
creates new opportunities for workers in emerging fields. The rise of remote work is another major trend influenced
by technology. With the development of high-speed internet and collaboration tools, employees can now work
from anywhere in the world. This flexibility offers benefits such as improved work-life balance and reduced
commuting time. However, it also presents challenges in terms of managing remote teams and maintaining
effective communication. Data analytics and machine learning have become essential tools in decision-making and
business operations. Companies now have access to vast amounts of data, allowing them to gain insights into

customer behavior, optimize processes, and drive innovation.

However, this reliance on data also raises concerns about privacy and data security. Technology has also
transformed the way we learn and acquire knowledge. Online education platforms and e-learning tools have made
education accessible to a wider audience. Students can now access course materials, participate in virtual
classrooms, and engage with instructors from around the world. However, the digital divide still exists, with many

individuals lacking access to reliable internet connections and technology devices. The integration of technology
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into the workplace has brought both benefits and challenges. While automation and remote work offer increased
efficiency and flexibility, they also require individuals and organizations to adapt and upskill. Continuous learning
and staying abreast of technological advancements have become essential for career growth and competitiveness

in the job market.

Question No. 80
What is a prerequisite for individuals and organizations in the evolving digital landscape?
Options:

1.it is about embracing the challenges of remote work.

2. it does not involve relying solely on automation and robotics.
3.itis navigating the digital divide in education.

4. it requires embracing lifelong learning and upskilling.

5. it entails learning new technologies.
Answer : it requires embracing lifelong learning and upskilling.

Direction:

Read the given passage and answer the following questions accor dingly.

The rapid advancements in technology have revolutionized the way we live and work. From smartphones to
artificial intelligence, these innovations have transformed various aspects of our lives. One area greatly impacted by
technology is the workplace. Automation and robotics have emerged as significant disruptors in the labor market.
Many routine and repetitive tasks previously performed by humans are now being automated, leading to concerns
about job security and unemployment. While automation may lead to job displacement in certain sectors, it also
creates new opportunities for workers in emerging fields. The rise of remote work is another major trend influenced
by technology. With the development of high-speed internet and collaboration tools, employees can now work
from anywhere in the world. This flexibility offers benefits such as improved work-life balance and reduced
commuting time. However, it also presents challenges in terms of managing remote teams and maintaining
effective communication. Data analytics and machine learning have become essential tools in decision-making and
business operations. Companies now have access to vast amounts of data, allowing them to gain insights into

customer behavior, optimize processes, and drive innovation.



0D
ixam Pees @

However, this reliance on data also raises concerns about privacy and data security. Technology has also
transformed the way we learn and acquire knowledge. Online education platforms and e-learning tools have made
education accessible to a wider audience. Students can now access course materials, participate in virtual
classrooms, and engage with instructors from around the world. However, the digital divide still exists, with many
individuals lacking access to reliable internet connections and technology devices. The integration of technology
into the workplace has brought both benefits and challenges. While automation and remote work offer increased
efficiency and flexibility, they also require individuals and organizations to adapt and upskill. Continuous learning
and staying abreast of technological advancements have become essential for career growth and competitiveness

in the job market.

Question No. 81
Choose the option that is opposite in meaning to “abreast” as mentioned in the passage.
Options:

1. parallel

2. discontinuation
3. against

4. trail

5. discard
Answer : trail

Direction:

Read the given passage and answer the following questions accordingly.

The rapid advancements in technology have revolutionized the way we live and work. From smartphones to
artificial intelligence, these innovations have transformed various aspects of our lives. One area greatly impacted by
technology is the workplace. Automation and robotics have emerged as significant disruptors in the labor market.
Many routine and repetitive tasks previously performed by humans are now being automated, leading to concerns
about job security and unemployment. While automation may lead to job displacement in certain sectors, it also
creates new opportunities for workers in emerging fields. The rise of remote work is another major trend influenced
by technology. With the development of high-speed internet and collaboration tools, employees can now work

from anywhere in the world. This flexibility offers benefits such as improved work-life balance and reduced
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commuting time. However, it also presents challenges in terms of managing remote teams and maintaining
effective communication. Data analytics and machine learning have become essential tools in decision-making and
business operations. Companies now have access to vast amounts of data, allowing them to gain insights into

customer behavior, optimize processes, and drive innovation.

However, this reliance on data also raises concerns about privacy and data security. Technology has also
transformed the way we learn and acquire knowledge. Online education platforms and e-learning tools have made
education accessible to a wider audience. Students can now access course materials, participate in virtual
classrooms, and engage with instructors from around the world. However, the digital divide still exists, with many
individuals lacking access to reliable internet connections and technology devices. The integration of technology
into the workplace has brought both benefits and challenges. While automation and remote work offer increased
efficiency and flexibility, they also require individuals and organizations to adapt and upskill. Continuous learning
and staying abreast of technological advancements have become essential for career growth and competitiveness

in the job market.

Question No. 82
What is the central focus of the passage?
Options:

1. it centers on the challenges arising from job displacement due to automation.
2.it is primarily about the advantages linked to remote work and data analytics.
3.it revolves around the impact of technology on various aspects of work.

4. it is focused on the accessibility of online education platforms.

5. it discusses the increasing workload for employees.

Answer : it revolves around the impact of technology on various aspects of work.

Question No. 83

Choose the option that providesthe most appropriate and contextually fitting word for each blank.
The teacher asked the students to their homework on her desk before leaving.

Options:



ixam

1. place
2. putting
3. puts
4. placed

5. placing

Answer : place

Question No. 84

Choose the option that providesthe most appropriate and contextually fitting word for each blank.

Mary is allergic to peanuts, so she always checks food labels to avoid any exposure.

Options:

1. accidental

2. purpose

3. intentionally
4. duly

5. affect

Answer : accidental

Question No. 85

Choose the option that providesthe most appropriate and contextually fitting word for each blank.

The company's decision to invest in new technology is expected to

Options:

1. diminish

2. reducing
3. decrease
4. enhance

5. impair

Answer : enhance

overall productivity.

0(6
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e Question No. 86

Choose the option that providesthe most appropriate and contextually fitting word for each blank.

The concert was so loud that it could be heard throughout the entire neighborhood.

Options:

1. vivid

2. clearance
3. audibly
4. hardly

5. noticeably

Answer : audibly

e Question No. 87

Choose the option that provides the most appropriate and contextually fitting word for each blank.

You have a view of people at work and this keeps you an important step ahead.

Options:

1. rudimentary
2. problematic
3. fractional
4. attaining

5. realistic

Answer : realistic

e Question No. 88

Read the following sentence car efully and identify if thereisany grammatical error in it. If you find any error,
choosethe part (A, B, C, or D) containing theerror asyour answer. If thereisno error, choose option E.

The team has been practicing hard (A)/ for the upcoming tournament, (B)/ and they were confident that their (C)/

efforts will pay off when the competition begin. (D)/ No error (E)
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Options:

1A
2.B
3.C
4.D

5.E

Answer: D

e Question No. 89

Read the following sentence car efully and identify if thereisany grammatical error init. If you find any error,
choosethe part (A, B, C, or D) containing the error asyour answer. If thereisno error, choose option E.

She is interested (A)/ with learning a new language, (B)/ and she has decided to enroll in (C)/ the language course

next month. (D)/ No error (E)
Options:

1A
2.B
3.C
4.D

5.E

Answer: B

e Question No. 90

Read the following sentence car efully and identify if thereisany grammatical error init. If you find any error,
choosethepart (A, B, C, or D) containing theerror asyour answer. If thereisno error, choose option E.

Despite of facing (A)/ numerous challenges, the team (B)/ has successfully completed their (C)/ project ahead of

schedule. (D)/ No error (E)
Options:

1A
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2.B
3.C
4.D

5.E

Answer: A

e Question No. 91

Read the following sentence car efully and identify if thereisany grammatical error init. If you find any error,
choosethepart (A, B, C, or D) containing theerror asyour answer. If thereisno error, choose option E.
The author's use of ambigous (A)/ language left many readers confused, (B)/ as the meaning of the passage (C)/

was not clearly defined. (D)/ No error (E)
Options:

1A
2.B
3.C
4.D

5.E

Answer: A

e Question No. 92

Read the following sentence car efully and identify if thereisany grammatical error init. If you find any error,
choosethepart (A, B, C, or D) containing theerror asyour answer. If thereisno error, choose option E.
By the time the guests arrive, (A)/ the chef already prepared a (B)/ delicious feast, and the aroma (C)/ of the freshly

cooked dishes fills the air. (D)/ No error (E)
Options:

1A
2.B
3.C

4.D
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5.E

Answer : B

Question No. 93

In each of the following questions, a word has been given and used in three statements. You are supposed to identify
which of the statement/s use/sthe word correctly and mark that asyour answer.

INDICT

l. The district attorney announced the decision toindict the cybercriminals responsible for the large-scale data

breach.
IIl. The landlord had to indict the tenant for consistently failing to pay rent on time.

lll. The prestigious university decided toindict a new group of talented scholars into its distinguished academic

honor society.
Options:

1.only ll
2.only land lll
3.only lll
4.only |

5.only land Il

Answer : only |

Question No. 94

In each of the following questions, a word has been given and used in three statements. You are supposed to identify
which of the statement/s use/sthe word correctly and mark that asyour answer.

ENTRANT
I. In the vast ocean, the entrant giant squid remained a creature of legend until recent scientific discoveries.

IIl. The startup incubator welcomed a fresh batch of entrants hoping to nurture innovative ideas and

entrepreneurial spirit.
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Ill. The captivating melody of the musician's flute seemed toentrant everyone in the room, transporting them to a

world of magic and wonder.
Options:

1. only I
2.only lll
3.onlylandll
4.only |

5.only Il and llI

Answer : only Il

e Question No. 95

In each of the following questions, a word has been given and used in three statements. Y ou ar e supposed to identify
which of the statement/s use/sthe word correctly and mark that asyour answer.

ELUSIVE
I. Happiness can sometimes feel elusive, as individuals search for fulfillment in different aspects of life.

II. The scientist dedicated years to the study of the elusive subatomic particle, finally making a groundbreaking

discovery.

Ill. The author's elusive references to classical mythology in the novel added a layer of depth for readers familiar

with ancient stories.
Options:

1. only ll
2.only land Il
3.only llI
4.only |

5.only land Il

Answer :only | and Il
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e Question No. 96

In each of the following questions, a word has been given and used in three statements. Y ou are supposed to identify
which of the statement/s use/sthe word correctly and mark that asyour answer.

SUBJUGATE

l. The United Nations plays a crucial role in helping to subjugate conflicts between nations and foster global

diplomacy.

IIl. The king shocked his subjects when he announced his decision tosubjugate the throne, relinquishing his royal

responsibilities to pursue a life of solitude.

I1l. Colonial powers often sought to subjugate indigenous cultures, imposing their own social structures and

customs on the conquered territories.
Options:

1.only land Il
2.onlyll
3.only Iland I
4.only land Ill

5. only llI

Answer : only Il

e Question No. 97

In each of the questions given below, four words are given in bold. These four words may or may not bein their
correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should replace
each other in order to make the sentence grammatically and contextually correct. Find the correct combination of
wor dsthat replace each other.

The Vande Bharat Express, India's flagship (A) semi-high-speed train, connects (B) major cities with cutting-edge

technology, efficient (C) passengers a comfortable and offering (D) travel experience.
Options:

1 A-C

2.A-B,C-D
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3.C-D
4.B-C

5.A-D, B-C

Answer: C-D

Question No. 98

In each of the questions given below, four words are given in bold. These four words may or may not bein their
correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should replace
each other in order to make the sentence grammatically and contextually correct. Find the correct combination of
wor dsthat replace each other.

The aviation sector has witnessed expansion (A) growth, with the continuous remarkable (B) of global air travel,
technological advancements, and the accessible (C) of low-cost carriers, making flying more emergence (D) to a

broader demographic.
Options:

1. A-B, C-D
2.A-D
3.A-C,B-D
4.A-C

5.B-C

Answer : A-B, C-D

Question No. 99

In each of the questions given below, four words are given in bold. These four words may or may not bein their
correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should replace
each other in order to make the sentence grammatically and contextually correct. Find the correct combination of
wor dsthat replace each other.

The Pacific Ocean, the largest and deepest of Earth's oceans, plays acrucial (A) role in regulating the planet's
climate, trade (B) diverse marine ecosystems, and serving (C) as a vital conduit for international hosting (D) and

commerce.

Options:
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1. A-C, B-D
2.B-D
3.A-B
4. A-D, B-C

5.A-B, C-D

Answer : B-D

e Question No. 100

In each of the questions given below, four words are given in bold. These four words may or may not bein their
correct position. The sentenceisthen followed by optionswith the correct combination of wordsthat should replace

each other in order to make the sentence grammatically and contextually correct. Find the correct combination of
wor dsthat replace each other.

Biogas, derived from organic alternative (A) through anaerobic digestion, represents a sustainable (B) and

renewable energy source, providing an eco-friendly waste (C) to traditional fossil fuels and contributing to waste

management efforts (D).
Options:

1. A-B
2.A-C,B-D
3.B-C
4.A-C

5.A-D, B-C

Answer : A-C

e Question No. 101

Certified copies can be produced for ______ of public documents

Options:

1. Proving contents
2. Proving parts

3. Proving contents or parts



0D
ixam Pees @

4. Proving existence

5. Disproving the existence

Answer : Proving contents or parts

e Question No. 102

When a person asserts any fact before the court which gives rise to any legal right or liability, the burden of proof

lieson__________ ?

Options:

1. The person who makes that assertion

2. The person on whom liability is charged

3. The person against whom legal right is discharged
4. The person who suffers no loss

5. The adverse party

Answer : The person who makes that assertion

e Question No.103
The State shall not confer a title on any citizen or non-citizen except:
Options:

1. When it is academic or military
2. When it is academic only

3. When it is military only

4. When it is based on nomination

5. When it is based on sponsorship

Answer : When it is academic or military

e Question No. 104

Which of the following constitutes a Heavy passenger motor vehicle?
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Options:

1. A public vehicle

2. A private vehicle with unladen weight

3. An educational institution bus gross vehicle weight of which exceeds 12000 Kg.
4. An omnibus gross vehicle weight of which exceeds 6000 Kg

5.Both c and d.

Answer : An educational institution bus gross vehicle weight of which exceeds 12000 Kg.

e Question No. 105

No suit shall be instituted against Central Government until expiration of

after notice in writing has been

delivered to the Secretary of Central Government.
Options:

1.2 months
2.6 months
3.1month

4.3 months

5.190 days

Answer : 2 months

e Question No. 106
Which of the following is not correct pre requisite condition for res judicata as under S.11 of CPC?
Options:

1. Matter is directly and substantially in issue in former suit
2. Same parties

3. Parties claiming under same parties

4. Parties claiming under same parties under different title

5. None of the above
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Answer : Parties claiming under same parties under different title

e Question No. 107

As per S. 15 of Civil Procedure Code, suit shall be instituted ?

Options:

1. In the court of lowest grade

2. In the court of highest grade

3.In the court of lowest grade competent to try it
4. In the court of highest grade competent to try it

5.In any court having territorial jurisdiction

Answer : In the court of lowest grade competent to try it

e Question No.108

If anybody drives in public in contravention of S.3 and 4 of the Motor vehicles act, he is punishable with:

Options:

1. Imprisonment up to 6 months and fine of 5 thousand rupees

2. Imprisonment up to 3 months or with fine of 5 thousand or with both
3. Imprisonment up to 6 months or with fine of 5 thousand or with both
4. Imprisonment up to 6 months and fine of 5 thousand

5. Imprisonment up to 1years and fine of 10 thousand.

Answer : Imprisonment up to 3 months or with fine of 5 thousand or with both

e Question No.109

Who has the authority to determine the number of members in District Consumer Forum?

Options:

1. Central government

0(6
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2. State Government
3. State Commission
4. National Commission

5. Regional Commission

Answer : Central government

e Question No. 110

“No person shall be deprived of his life or personal liberty except according to procedure established by law” is

provided under which Article of the Indian Constitution?
Options:

1.21

2.20
3.22
4.19

5.19(1) (a)

Answer : 21

e Question No. 111
When a fact is said to be “Not proved” as per Indian Evidence Act?
Options:

1. When no evidence is led

2. When no adverse evidence is led on that fact
3. When no evidence is led in support of that fact
4. When it is not proved

5. When it is neither proved nor disproved

Answer : When it is neither proved nor disproved



e Question No. 112

The principle covered under S.115 of Indian Evidence Act is?

Options:

1. Admission

2. Admission by way of Estoppel

3. Estoppel by way of Admission

4. Estoppel only and not Admission

5. Both Estoppel and Admission.

Answer : Estoppel only and not Admission

e Question No. 113

Theft does not include :

Options:

1. Dishonest intention

2. Movable property

3. Immovable property

4. Removing out of possession of any person

5. Removing property without consent.

Answer : Immovable property

e Question No. 114

The choice of arbitrator rests with whom in case parties fail to decide?

Options:

1. Parties themselves only
2. Civil Court

3. Supreme Court or High Court

ixam
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4. Any person or institution designated by High Court of Supreme Court

5.candd.

Answer : cand d.

e Question No. 115
Who is the Executive Chairman of NALSA?
Options:

1. Hon'ble Mr. Justice Bhushan Ramkrishna Gavai
2. Hon'ble Mr. Justice C. T. Ravikumar

3. Hon'ble Mr. Justice Sanjeev Khanna

4. Hon'ble Mr. Justice Sanjay Kishan Kaul

5. Hon'ble Mr. Justice Hrishikesh Roy

Answer : Hon&#039;ble Mr. Justice Sanjay Kishan Kaul

e Question No. 116
A Permanent Lok Adalat is headed by?
Options:

1. Chairman

2. Patron in chief

3. Executive Chairman
4. Magistrate

5. Civil Judge Junior Division

Answer : Chairman

e Question No. 117

Which of the following section of Legal Services Authorities Act, 1987 provides for cognizance of cases by

Permanent Lok Adalat?

0(6



0D
ixam Pees @

Options:

1.S.22

2.5.22B
3.58.22C
4.5.22 A

5.5.22D

Answer:S.22C

e Question No. 118

What is the Limitation period for cognizance of a complaint under the Consumer Protection Act, 2019?
Options:

1.6 years
2.2 years
3.3 years
4.6 months

5.5 years

Answer : 2 years

e Question No. 119
President of India is elected by?
Options:

1. Electoral college

2. Prime Minister

3. Speaker

4. Central Government

5. Electoral College of State Legislative Assemblies and Parliament.

Answer : Electoral college



e Question No. 120

What is the paid up equity capital requirement for a life insurance company?

Options:

1.1 crore
2.100 crore
3.50 crores
4.200 crores

5.99 Lakhs

Answer : 100 crore

e Question No. 121

What is the minimum age of Transport Vehicle driver license?
Options:

1.18 years
2.21years
3.20 years
4. 25 years

5.22 years

Answer : 20 years

e Question No.122
Notice to appear issued to respondents is known as?
Options:

1. Notice
2. Sheriff

3. Paper Publication

ixam
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4. Summons to defendants

5. Summons for production

Answer : Summons to defendants

e Question No. 123
Compensation under MV Act adjudged by which authority?
Options:

1. Motor Accident Claims Tribunal

2. District Court

3. Civil Judge

4. Judicial Magistrate First Class where case is registered

5. Civil Judge of equivalent jurisdiction to Judicial Magistrate First Class where case is registered

Answer : Motor Accident Claims Tribunal

e Question No. 124
Section 120A and B of IPC talks about the offence of?
Options:

1. Criminal misappropriation
2. Criminal conspiracy

3. Theft

4. Criminal Breach of Trust

5. Abetment

Answer : Criminal conspiracy

e Question No. 125

Wrongful loss is?

0(6
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Options:

1. loss by unlawful means of property to which the person losing it is legally entitled.
2. loss of property to which the person losing it is legally entitled.

3. loss by unlawful means of property

4. trespass and destruction giving rise to loss of property

5. destruction and loss of property due to mischief.

Answer : loss by unlawful means of property to which the person losing it is legally entitled.

e Question No. 126
General Insurance business covers which type/s of business/es?
Options:

1. Fire

2. marine

3. Miscellaneous
4.aand b

5.A, bandc

Answer:aandb

e Question No. 127
Copies made from original by mechanical process are?
Options:

1. Primary evidence

2. Secondary evidence

3. Secondary only if compared with original
4. Primary only if compared with original

5. Secondary only after attestation.

Answer : Secondary evidence
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e Question No. 128
On whom burden of proof lies?
Options:

1. who would fail if no evidence at all were given on either side.

2. who would not fail if no evidence at all were given on either side.
3. who would fail if evidence was given on either side.

4. On the plaintiff and prosecution only

5. On defendant and prosecution only

Answer : who would fail if no evidence at all were given on either side.

e Question No. 129
Institution of suits is provided under which section of CPC?
Options:

1.25
2.26
3.27
4.1

57

Answer : 26

e Question No.130
Forms and contents of Arbitral award are given under which section of Arbitration and Conciliation act, 1996?
Options:

1M
2.30

3.3



4.32

5.34

Answer : 31

e Question No. 131

A learner’s license shall be effective for a period of?

Options:

1.12 months
2.6 months
3.2 years

4.8 months

5.1 months

Answer : 6 months

e Question No. 132

Public servants are covered under which section of IPC?

Options:

1.21
2.20
3.19
4.16

5.17

Answer : 21

e Question No. 133

What is the primary purpose of tort law?
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Options:

1. To punish individuals for criminal acts

2. To regulate contractual agreements

3. To compensate individuals for injuries caused by others
4. To establish property rights

5. To enforce intellectual property laws

Answer : To compensate individuals for injuries caused by others

e Question No. 134
In the context of vicarious liability, which of the following statements is true?
Options:

1. It only applies to intentional torts committed by employees.

2. Employers are not held responsible for the actions of their employees.

3.1t holds employers liable for the wrongful actions of employees performed within the scope of
employment.

4.1t is only applicable in criminal cases involving employees.

5. It applies only to independent contractors, not employees.
Answer : It holds employers liable for the wrongful actions of employees performed within the scope of
employment.
e Question No. 135
According to the Motor Vehicle Act, what does the term "golden hour" refer to?
Options:

1. The ideal time of day for driving to avoid traffic congestion.
2. The first 60 minutes after sunrise when road visibility is optimal.
3. The time period lasting one hour following a traumatic injury during which there is highest likelihood of

preventing death by providing prompt medical care.
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4. The time window during which drivers must report a collision to the authorities.

5. The period during which drivers are required to use their vehicle's headlights.
Answer : The time period lasting one hour following a traumatic injury during which there is highest likelihood of
preventing death by providing prompt medical care.
e Question No. 136
Confession is defined under which section of Indian Evidence Act?
Options:

1.24
2.25
3.26
4.27

5. Not defined specifically

Answer : Not defined specifically

e Question No. 137

In civil litigation, what is the prescribed time period within which a written statement is generally required to be

filed by the defendant?
Options:

1.15 days from the date of service of summons.

2. 30 days from the date of service of summons.
3. 45 days from the date of service of summons.
4. 60 days from the date of service of summons.

5. 90 days from the date of service of summons.

Answer : 30 days from the date of service of summons.

e Question No. 138
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Which of the following entities cannot be an insurance company?
Options:

1. Corporation

2. Mutual Fund

3. Cooperative Society
4. Partnership Firm

5. Limited Liability Company (LLC)

Answer : Mutual Fund

e Question No. 139
An appeal against the order of National Commission shall lie to Supreme Court within?
Options:

1.30 days
2. 45 days
3.60 days
4.15 days

5.90 days

Answer : 30 days

e Question No. 140
What is the time limit for making of arbitral award in cases other than International Commercial Arbitration?
Options:

1. 6 months

2.12 months

3.3 months

4. As expeditiously as possible

5. No time period mentioned
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Answer : 12 months

e Question No. 141

Whoever being the owner allows unauthorized person to drive his vehicle

Options:

1. Shall be punished with imprisonment for 1 month and fine of 1 thousand

2. Shall be punished with imprisonment for up to 3 months and fine of 1 thousand
3. Shall be punished with imprisonment for up to 3 months and fine of 5 thousand
4. Shall be punished with imprisonment for up to 6 months and fine of 1 thousand

5. Shall be punished with imprisonment for up to 6 months and fine of 5 thousand

Answer : Shall be punished with imprisonment for up to 3 months and fine of 5 thousand

e Question No. 142

Which regulatory body in India is responsible for regulating and supervising the capital markets, including stock

exchanges, brokers, and other market intermediaries?
Options:

1. RBI

2. SEBI
3.IBBI

4. NABARD

5. PFRDA

Answer : NABARD

e Question No. 143

Which article of the Indian Constitution guarantees the Right to Freedom of Speech and Expression?

Options:



1. Article 14
2. Article 19
3. Article 21
4. Article 25

5. Article 32

Answer : Article 19

¢ Question No. 144
How is the Chief Justice of the Supreme Court of India appointed?
Options:

1. Direct Election by the People

2. Appointment by the Prime Minister

3. Recommendation by the Collegium and Appointment by the President
4. Selection through a Public Referendum

5. None of the above.

Answer : Recommendation by the Collegium and Appointment by the President

e Question No. 145

According to the Consumer Protection Act, 2019 which are the rights of consumers?
Options:

1. Redressal against unfair trade practices
2. Consumer awareness

3. Right to be heard

4.3,bandc

5.onlyaandc

Answer:a, b and c
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e Question No. 146
Who is the Chairperson of District Consumer Protection Council?
Options:

1. Collector

2. District Judge

3. Retired District Judge

4. Consumer affairs minister in State Government

5. Any person appointed for sufficient experience in the field.

Answer : Collector

e Question No. 147

Under the Civil Procedure Code (CPC) in India, which provision deals with the power of the court to issue a

temporary injunction?
Options:

1. Section 89
2. Section 95
3. Section 144
4. Section 151

5. Order 39, Rule 1

Answer : Order 39, Rule 1

e Question No. 148
Which section of the Indian Evidence Act states that admission may n estop?
Options:

1. 115

2.17
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3.24
4.31

5.18.

Answer : 31

e Question No. 149
No person under the age of 18 years shall drive a motor vehiclein________ .
Options:

1. Public place

2. Any place

3. Private place

4. Both public or private place

5. Public place and private place at night.

Answer : Public place

e Question No.150
As per the provisions of Motor Vehicle Act, what is the certificate of registration?
Options:

1. Registration of owner of vehicle

2. Registration of motor vehicle

3. Registration of licensed driver

4. Registration of vehicle in owner’s name

5. Registration of light motor vehicle

Answer : Registration of motor vehicle
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